

اف (از نقطه $\frac{1}{2}$ عبور کند) $\rightarrow$ $\frac{1 - (-2)}{2 - 0} \rightarrow -1$
 $-1x + b = y$
 $-1x + b = 2$
 $-1x + b = -1$
 $b = 1$
 $-1x + 1 = y$
 $-1x + 1 = -1$
 $-1x = -2$
 $x = 2$
 $y = -1$
 پس با مقادیر $y + 2x = -1$

ج) $2y + 4x = -1 \rightarrow 2y = -1 - 4x$
 $y = \frac{-1 - 4x}{2}$
 $y = -\frac{1}{2} - 2x$

$y = -3x + 12$
 $y' = -3$
 $\tan^{-1}(-3) = \frac{\pi}{2} - \theta$
 $\theta = \frac{\pi}{2} - \tan^{-1}(-3)$

$$r_1 = \frac{1}{\sqrt{1^2 + 1^2}} \begin{pmatrix} 1 \\ 1 \end{pmatrix} = \frac{1}{\sqrt{2}} \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

$$r_2 = \frac{1}{\sqrt{1^2 + 1^2}} \begin{pmatrix} -1 \\ 1 \end{pmatrix} = \frac{1}{\sqrt{2}} \begin{pmatrix} -1 \\ 1 \end{pmatrix}$$

$$r_1 \cdot r_2 = \frac{1}{\sqrt{2}} \begin{pmatrix} 1 \\ 1 \end{pmatrix} \cdot \frac{1}{\sqrt{2}} \begin{pmatrix} -1 \\ 1 \end{pmatrix} = \frac{1}{2} (-1 + 1) = 0$$

$$r_1 \perp r_2$$

معادله خط و مساحت مثلث

$7x + 4y = 1 \rightarrow 7x + 4y - 1 = 0$

$12x + 13y = 4 \rightarrow 12x + 13y - 4 = 0$

$7x + 4y = 1$

$12x + 13y = 4$

$d = \frac{|12 \cdot 4 - 7 \cdot 1|}{\sqrt{12^2 + 13^2}} = \frac{45}{\sqrt{313}}$

فاصله

$$\begin{aligned} & \begin{cases} rx - ry = 1 \\ ry + rx = r \end{cases} \rightarrow \frac{|ax + by - c|}{\sqrt{a^2 + b^2}} = \frac{|a'x + b'y - c'|}{\sqrt{(a')^2 + (b')^2}} \\ & \hookrightarrow |rx - ry - 1| = |ry + rx - r| \quad \frac{x}{a} + \frac{y}{b} = y \\ & \hookrightarrow rx - ry - 1 = ry + rx - r \rightarrow x - 2y + r = 0 \quad \boxed{y = r - 2x} \\ & rx - ry - 1 = -ry - rx + r \rightarrow 2x + y = r - 1 \rightarrow \end{aligned}$$

$$\tan \alpha = \left| \frac{m - m'}{1 + mm'} \right| \rightarrow \begin{cases} y + vx = r \rightarrow m = -v \\ y - vx = 0 \rightarrow m' = v \end{cases}$$

$$B \begin{vmatrix} -1 \\ 2 \end{vmatrix}$$

$$A \begin{vmatrix} 2 \\ -1 \end{vmatrix} \rightarrow \sqrt{4x^2 + 3y^2} = 10$$

$$\text{Answer} = \begin{vmatrix} -\frac{10-2}{2} \\ \frac{10-2}{2} \end{vmatrix} = \begin{vmatrix} -4 \\ 4 \end{vmatrix}$$

$$\begin{vmatrix} -10 \\ -12 \end{vmatrix}$$

$$\begin{vmatrix} -2 \\ 3 \end{vmatrix}$$

$$\begin{vmatrix} 2 \\ 1 \end{vmatrix}$$

قسط

$$\begin{vmatrix} -10-2+3 \\ -12+3+1 \end{vmatrix} = \begin{vmatrix} -9 \\ -8 \end{vmatrix}$$

$$\begin{vmatrix} -10 \\ -12 \end{vmatrix} = \begin{vmatrix} -10 \\ -12 \end{vmatrix}$$

$$\begin{vmatrix} -10 \\ -12 \end{vmatrix} = \begin{vmatrix} -10 \\ -12 \end{vmatrix}$$

$$\begin{vmatrix} -10 \\ -12 \end{vmatrix} = \begin{vmatrix} -10 \\ -12 \end{vmatrix}$$

$$\begin{vmatrix} -10 \\ -12 \end{vmatrix} = \begin{vmatrix} -10 \\ -12 \end{vmatrix}$$

$$\begin{vmatrix} -10 \\ -12 \end{vmatrix} = \begin{vmatrix} -10 \\ -12 \end{vmatrix}$$

$$\begin{vmatrix} -10 \\ -12 \end{vmatrix} = \begin{vmatrix} -10 \\ -12 \end{vmatrix}$$

$$\begin{vmatrix} -10 \\ -12 \end{vmatrix} = \begin{vmatrix} -10 \\ -12 \end{vmatrix}$$

$$\begin{vmatrix} -10 \\ -12 \end{vmatrix} = \begin{vmatrix} -10 \\ -12 \end{vmatrix}$$

$$\begin{vmatrix} -10 \\ -12 \end{vmatrix} = \begin{vmatrix} -10 \\ -12 \end{vmatrix}$$

$$y = \frac{2x+1}{x-2}$$

$$-x = \frac{-2y+1}{-2y-2}$$

$$x = \frac{2y-1}{2y+2}$$

$$-y = \frac{2x+1}{x-2}$$

$$y = \frac{-2x+1}{-x+2}$$

$$y = \frac{-2x+1}{-x+2}$$

$$x = \frac{2y+1}{2y-2}$$

$$x = \frac{2y+1}{2y-2}$$

$$x = \frac{2y+1}{2y-2}$$

$$x = \frac{2y+1}{2y-2}$$

$$x = \frac{2y+1}{2y-2}$$

$$x = \frac{2y+1}{2y-2}$$

$$x = \frac{2y+1}{2y-2}$$

$$y = \frac{2x+1}{x-2}$$

$$x' = x-2 \rightarrow x'+2 = x$$

$$y' = y+2 \rightarrow y'-2 = y$$

$$y'-2 = \frac{2x'+4+1}{x'-2}$$

$$y'-2 = \frac{2x'+5}{x'-2}$$

$$y'-2 = \frac{2x'+5}{x'-2}$$

$$y'-2 = \frac{2x'+5}{x'-2}$$

$$y'-2 = \frac{2x'+5}{x'-2}$$

$$y'-2 = \frac{2x'+5}{x'-2}$$

$$y'-2 = \frac{2x'+5}{x'-2}$$

$$y'-2 = \frac{2x'+5}{x'-2}$$

$$y'-2 = \frac{2x'+5}{x'-2}$$

$$y'-2 = \frac{2x'+5}{x'-2}$$

$$\begin{cases} 3x+2y=2 \\ x-2y=1 \end{cases}$$

$$x(-2) \rightarrow \begin{cases} 3x+2y=2 \\ -3x+4y=-2 \end{cases}$$

$$6y=-1 \rightarrow y=-\frac{1}{6}$$

$$y=-\frac{1}{6} \rightarrow x=\frac{14}{6}$$

$$x=\frac{14}{6} \rightarrow y=-\frac{1}{6}$$

$$y=-\frac{1}{6} \rightarrow x=\frac{14}{6}$$

$$x=\frac{14}{6} \rightarrow y=-\frac{1}{6}$$

$$y=-\frac{1}{6} \rightarrow x=\frac{14}{6}$$

$$x=\frac{14}{6} \rightarrow y=-\frac{1}{6}$$

$$y=-\frac{1}{6} \rightarrow x=\frac{14}{6}$$

$$x=\frac{14}{6} \rightarrow y=-\frac{1}{6}$$

$$y=-\frac{1}{6} \rightarrow x=\frac{14}{6}$$

$$x=\frac{14}{6} \rightarrow y=-\frac{1}{6}$$

$$x = -\frac{\begin{vmatrix} 2 & 2 \\ 1 & -2 \end{vmatrix}}{\begin{vmatrix} 3 & 2 \\ 1 & -2 \end{vmatrix}} = -\frac{-4-2}{-6-2} = \frac{6}{-8} = -\frac{3}{4}$$

$$y = \frac{\begin{vmatrix} 3 & 2 \\ 1 & -2 \end{vmatrix}}{\begin{vmatrix} 3 & 2 \\ 1 & -2 \end{vmatrix}} = \frac{-6-2}{-6-2} = \frac{-8}{-8} = 1$$

$$y = 1 \rightarrow x = -\frac{3}{4}$$

$$x = -\frac{3}{4} \rightarrow y = 1$$

$$y = 1 \rightarrow x = -\frac{3}{4}$$

$$x = -\frac{3}{4} \rightarrow y = 1$$

$$y = 1 \rightarrow x = -\frac{3}{4}$$

$$x = -\frac{3}{4} \rightarrow y = 1$$

$$y = 1 \rightarrow x = -\frac{3}{4}$$

$$x = -\frac{3}{4} \rightarrow y = 1$$

$$y = 1 \rightarrow x = -\frac{3}{4}$$

$$x = -\frac{3}{4} \rightarrow y = 1$$

$$y = 1 \rightarrow x = -\frac{3}{4}$$